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Enrollment No: _______________________         Exam Seat No: _______________________ 

C. U. SHAH UNIVERSITY 

Summer Examination-2020 

 

Subject Name: Engineering Mechanics 
 

Subject Code: 2TE03EMS1    Branch: Diploma (Mechanical)  
    

Semester: 3       Date: 27/02/2020  Time: 02:30 To 05:30    Marks: 70 
 

Instructions: 
(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 

(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  The unit of Angular velocity in S.I. system is ____ 

(A)kg.m/s
  
     (B) N      (C) rad/s      (D) rad/s

2  
 

 

 b)  The unit of power in S.I. system is ____ 

(A)Nm        (B) W      (C) m/s     (D) Pa 

 

 c)  Forces are called concurrent when their lines of action meet in ____ 

(A)one point    (B) two point    (C) plane    (D) different plane   

 

 d)  Effect of a force on body depends on ____ 

(A)magnitude     (B) direction    (C) position    (D) all of above    

 

 e)  When trying to turn key in lock, following is applied? 

(A)coplanar force     (B) lever     (C) couple     (D) moment   

 

 f)  Which of the following is not a scalar quantity? 

(A)acceleration     (B) time    (C) mass    (D) volume   

 

 g)  The weight of body is due to _____ 

(A)centripetal force of the earth 

(B)forces experienced by body in atmosphere 

(C)gravitation force of attraction towards the center of the earth 

(D)all of above  

 

 h)  A number of forces acting on a point will be in equilibrium if ___ 

(A)their total sum is zero    (B) all of them are inclined equally 

(C)all of above                    (D) none of above   

 

 i)  The center of gravity of a uniform lamina lies at _____ 

(A)the center of heavy portion   (B) the mid-point of its axis  

(C)the bottom of surface            (D)all of above  

 

 j)  The coefficient of friction is depending on _____ 

(A)nature of surface            (B) shape of surface     

(C) area of contact                  (D) strength of surface    

 

 k)  A pair of smith’s tong is an example of lever of ____ 

(A) zeroth order     (B) first order     (C) second order    (D) fourth order   
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 l)  In actual machine, mechanical advantage is _____ velocity ratio. 

(A)equal to    (B) less than     (C) more than   (D) all of above   

 

 m)  The rate of change of body of displacement is called ___ 

(A)velocity    (B) acceleration    (C) momentum   (D) none of above   

 

 n)  A machine having an efficiency greater than 50%, is known as ___ 

(A)nonreversible machine        (B) reversible machine   

(C) ideal machine                     (D) none of above   

 

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 A Define following terms. 

(1)Engineering Mechanics     (2) Statics     (3) Dynamics   (4) Kinetics  

(5) Kinematics   

05 

 B Explain polygon law of force. 02 

 C Explain parallelogram law of force. 07 

Q-3  Attempt all questions (14) 

 A Two tensile forces acting at a point. The angle between the forces is 

120
0
. Big force is 35KN and resultant force is perpendicular to small 

force so find value of small force and resultant force.  

07 

 B Following forces act at a point, so find out magnitude and direction of 

resultant force. 400N towards East, 250N towards North, 100N acting 

towards North West and 150N acting towards 60
0
 South of West. 

07 

Q-4  Attempt all questions (14) 

 A Explain types of supports. 07 

 B Explain varignon’s principle of moment. 03 

 C Give the difference between moment of a force and couple.   04 

Q-5  Attempt all questions (14) 

 A ABCD is square of 2.0m where D lies at bottom left corner. Forces 8KN, 

12KN, 12KN and 10KN are acting respectively along DA, AB, BC, and 

BD direction. Find out magnitude and direction of resultant force. 

07 

 B Explain law of conservation of energy.  07 

Q-6  Attempt all questions (14) 

 A Find C.G. for given solid in fig. 01. 07 

 B One T section have flange of 20 X 02 cm and web of 30 X 02 cm. find 

out its centroid.  

05 

 C Explain axis of symmetry.  02 

Q-7  Attempt all questions (14) 

 A Explain types of friction. 04 

 B Explain law of static friction. 03 

 C Calculate the horizontal force required, for a block weighting 20 N, to 

push up the plane whose slop is 30
0
. The coefficient of is 0.25 

07 

Q-8  Attempt all questions (14) 

 A Explain law of machine. 07 

 B What is effort lost in friction? 03 

 C Write condition for reversibility of machine.  04 
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ગજુરાતી 
પ્ર.૧   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો.  (૧૪) 

 a)  S.I. સવસ્ટભભ ાં કોણીમ લેગનો એકભ ____ છે. 
(અ)kg.m/s

  
     (ફ) N      (ક) rad/s      (ડ) rad/s

2  

 

 b)  S.I. સવસ્ટભભ ાં ઩ લય એકભ ____ છે. 
 (અ)N.m        (ફ) W      (ક) m/s     (ડ) Pa 

 

 c)  જ્મ યે તેભની ક્રિમ ની યેખ ઓ ____ ભ ાં ભ઱ે ત્મ યે તે ફ઱ ને વાંગ ભી ફ઱ો 
કશલે ભ ાં આલે છે. 
(અ) એક બફિંદુ    (ફ) ફ ેબફિંદુ     (ક) વભતર (ડ) અરગ વભતર  

 

 d)  લસ્ત ુ઩ય ર ગત  ફ઱ની અવય  _____ ઩ય આધ ય ય ખે છે. 
(અ) મલૂ્મ    (ફ) ક્રદળ     (ક) સ્સ્થસત    (ડ) ઉ઩ય ન  ફધ    

 

 e)  જમ યે ચ લીને તરભ ાં પેયલલ ભ ાં આલે ત્મ યે નીચેન  ભ ાંથી કયુાં ર ગ ુ઩ડ ેછે? 

(અ) વભતબરમ ફ઱   (ફ) રીલય   (ક) ક઩ર   (ડ) ભોભેન્ટ  

 

 f)  નીચેન  ભ ાંથી કઈ આક્રદળ ય ળી નથી? 

(અ)પ્રલેગ    (ફ) વભમ    (ક) દ઱   (ડ) કદ  

 

 g)  લસ્તનુુાં લજન _____ ને રીધે છે. 
(અ) ઩થૃ્લીનુાં કેન્રત્મ ગી ફ઱  
(ફ) લ ત લયણ ભ ાંથી લસ્ત ુદ્વ ય  અનબુલ ત ુાં ફ઱ 

(ક) ઩થૃ્લીન  કેન્ર તયપ આક઴ષણનુાં ગરુુત્લ ક઴ષણ ફ઱ 

(ડ) ઉ઩યન  ફધ   

 

 h)  એક જ બફિંદુ ઩ય ર ગત  વાંખ્મ ફાંધ ફ઱ો વાંતરુન ભ ાં શળે જો _____ 

(અ) તેનો ટોટર વયલ ઱ો ઝીયો શોમ    (ફ) ત ેફધ  એક વયખ  ત્ ાંવ  શોમ 

(ક) ઉ઩ય ન  ફધ    (ડ) એક ઩ણ નશી  

 

 i)  વભસભસત તકતીનુાં ગરુુત્્કેન્ર ______ ઩ય શોમ છે. 
(અ) બ યે બ ગ નુાં કેન્ર        (ફ) તેની અક્ષ ન  ભધ્મ બફિંદુ   
(ક) વ઩ ટી ની નીચે            (ડ) ઉ઩ય ન  ફધ   

 

 j)  ઘ઴ષણ ક _____ ઩ય આધ ક્રયત છે. 
(અ) વ઩ ટીની પ્રકૃસત          (ફ) વ઩ ટી ન  આક ય    
(ક) વાં઩કષ સલસ્ત ય             (ડ) વ઩ ટીની ત ક ત  

 

 k)  લશુ યની વ ણવી _______ બરલયનુાં ઉદ શયણ છે. 
(અ) ઝીયો િભન ાં   (ફ) પ્રથભ િભન    (ક) ફીજા િભન    (ડ) ચોથ  િભન   

 

 l)  લ સ્તસલક માંત્ભ ાં, મ ાંસત્ક ર બ લેગ યેસળમો કયત  ________ શોમ છે. 
(અ) જેટરો     (ફ) ઓછો   (ક) લધ યે    (ડ) ઉ઩યન  ફધ   
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 m)  લસ્તનુ  ક્રડસ્્રેવભેન્ટન  ફદર લ ન  દય ને _____ કશલે ભ ાં આલે છે. 
(અ) લેગ   (ફ) પ્રલેગ    (ક) લેગભ ન   (ડ) એક ઩ણ નક્રશ  

 

 n)  જે માંત્ની ક્ષભત  ૫૦% કયત  લધ યે શોમ તેલ  માંત્ ____ કશલે ભ ાં આલે છે. 
(અ) અ઩ક્રયલસતિ માંત્   (ફ) ઩ક્રયલસતિ માંત્  (ક) આદળષ માંત્   (ડ) એક ઩ણ નક્રશ     

 

પ્રશ્ન ૦૨ થી પ્રશ્ન ૦૮ માાંથી કોઈ ઩ણ ચાર પ્રશ્નોના જવાબ લખો. 
પ્ર.૨   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 

 A નીચેન  ઩દોની ્મ ખ્મ  ર ખો. 
(૧)ઇજનેયી માંત્સલજ્ઞ ન  (૨) સ્સ્થસતળ સ્ત્ર   (૩) ગસતળ સ્ત્ર   (૪) ફ઱ગસત 
સલજ્ઞ ન  (૫) શદુ્ધગસત સલજ્ઞ ન   

૦૫ 

 B ફ઱ોન ાં ફહકુોણનો સનમભ વભજાલો. ૦૨ 

 C વભ ાંતય ફ જુ ચતષુ્કોણનો સનમભ વભજાલો. ૦૭ 

પ્ર.૩   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 
 A ફ ેખેચ ણફ઱ો એક બફિંદુ આગ઱ 120

0
 ન  ખણૂે ર ગે છે. ભોટુાં ફ઱ 35KN છે. અને 

઩ક્રયણ ભી ફ઱ ન ન  ફ઱ને રાંફ છે. તો ન ન  ફ઱નુાં અને ઩ક્રયણ ભી ફ઱ નુાં 
મલૂ્મ ળોધો. 

૦૭ 

 B નીચેન  ફ઱ો એક બફિંદુ ઩ય ર ગે છે તો તેન  ઩ક્રયણ ભી ફ઱નુાં મલૂ્મ અને ક્રદળ  
ળોધો. 400N ઩લૂષ તયપ, 250N ઉત્તય તયપ, 100N ઉત્તય-઩સિભ તયપ અને 150N 
઩સિભ વ થ ે60

0 ન  ખણૂે દબક્ષણ તયપ  

૦૭ 

પ્ર.૪   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 
 A ટેક  ન  ઩ક યો વભજાલો. ૦૭ 

 B લેક્રયગ્નનનો ફ઱ધણૂષનો સવધ્ધ ાંત વભજાલો. ૦૩ 

 C ફ઱ધણૂષ અનય ફ઱યગુ્ભ લચ્ચેનો તપ લત રખો.   ૦૪ 
પ્ર.૫   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 

 A ABCD એ 2.0m ફ જુ લ ઱ો ચોયવ છે. ફ઱ો  8KN, 12KN, 12KN અન ે10KN 

અનિુભે DA, AB, BC, અન ેBD ક્રદળ  ભ ાં ર ગે છે. D નીચેની ફ જુએ ડ ફ  ખણૂ  
઩ય છે  તો ઩ક્રયણ ભી ફ઱ નુાં મલૂ્મ અને ક્રદળ  ળોધો. 

૦૭ 

 B ક મષ ળસ્તતની અસલન ળીત નો સવધ્ધ ાંત વભજાલો. ૦૭ 

પ્ર.૬   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 
 A આકૃસત ૦૧ ભ ાં દળ ષલેર પ્રણ રીનુાં C.G. ળોધો. ૦૭ 

 B એક T વેતળનની ફ્રેંજ 20 X 02 cm ની અને લેફ 30 X 02 cm ની છે તો તેનુાં 
ક્ષેત્કેન્ર ળોધો. 

૦૫ 

 C વભસભસત અક્ષ વભજાલો. ૦૨ 

પ્ર.૭   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 
 A ઘ઴ષણન  પ્રક ય વભજાલો. ૦૪ 
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 B સ્સ્થત ઘ઴ષણન  સનમભો વભજાલો. ૦૩ 

 C 30
0  ખણૂ ેઢ઱તી વ઩ ટી ઩ય ઩ડરે  20 N લજનન  બ્રોકને ઉ઩યની તયપ 

ખવેડલ  ભ ટે વભબક્ષસતજ ક્રદળ ભ ાં કેટલુાં ફ઱ રગ ડવુાં ઩ડ ેતે ગણો. ઘ઴ષણ ક 0.25 
રો.   

૦૭ 

પ્ર.૮   નીચેના બધા જ પ્રશ્નો ના જવાબ લાખો. (૧૪) 
 A માંત્નો સનમભ વભજાલો. ૦૭ 

 B ઘ઴ષણભ ાં ્મમ થમેર પ્રમત્નફ઱ એટરે શુાં? ૦૩ 

 C માંત્ની ઉત્િભણીમત  ભ ટેની ળયતો ર ખો. ૦૪ 
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